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4. 4 [Option ID = 10394]

2)

TTETERT 30T T 23T TEITERT HesTehT HETeh Iead (eIfEatd IeTa e
Tt e e ars-afew, ds Tae

fo¥ar 317 st ot frarar ara Taar

Tl GarsIEH de ! Saperr

AT faafeaAT, R oid e A

31 AT & AT el 3efog; Alegd :

@fel 2ieTaens of feaiell R IgS

TET IGIOT T T TN THSRN Wach et FiaAT Ifet TATIT ARTH TSes| A TfSed Fit Fol
g7

(1) A (2) Hebwg sleatr
(3) 3eEIEEr (4) T SR

[Question ID = 2733][Question Description = Q97_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10395]
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4. 4 [Option ID = 10074]
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1. 1 [Option ID = 10123]
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[Question ID = 2667][Question Description = Q31_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10131]
2. 2 [Option ID = 10132]
3. 3 [Option ID = 10133]
4. 4 [Option ID = 10134]
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[Question ID = 2668][Question Description = Q32_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10135]
2. 2 [Option ID = 10136]
3. 3 [Option ID = 10137]
4. 4 [Option ID = 10138]
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[Question ID = 2669][Question Description = Q33_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10139]
2. 2 [Option ID = 10140]
3. 3 [Option ID = 10141]
4. 4 [Option ID = 10142]
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[Question ID = 2670][Question Description = Q34_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10143]
2. 2 [Option ID = 10144]
3. 3 [Option ID = 10145]
4. 4 [Option ID = 10146]
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[Question ID = 2671][Question Description = Q35_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10147]
2. 2 [Option ID = 10148]
3. 3 [Option ID = 10149]
4. 4 [Option ID = 10150]
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[Question ID = 2672][Question Description = Q36_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10151]
2. 2 [Option ID = 10152]
3. 3 [Option ID = 10153]
4. 4 [Option ID = 10154]
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[Question ID = 2673][Question Description = Q37_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10155]
2. 2 [Option ID = 10156]
3. 3 [Option ID = 10157]
4. 4 [Option ID = 10158]
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[Question ID = 2674][Question Description = Q38_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10159]
2. 2 [Option ID = 10160]
3. 3 [Option ID = 10161]
4. 4 [Option ID = 10162]
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[Question ID = 2675][Question Description = Q39_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10163]
2. 2 [Option ID = 10164]

3. 3 [Option ID = 10165]
4. 4 [Option ID = 10166]
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[Question ID = 2676][Question Description = Q40_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10167]
2. 2 [Option ID = 10168]
3. 3 [Option ID = 10169]
4. 4 [Option ID = 10170]
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[Question ID = 2677][Question Description = Q41_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10171]



2. 2 [Option ID = 10172]
3. 3 [Option ID = 10173]
4. 4 [Option ID = 10174]
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[Question ID = 2678][Question Description = Q42_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10175]
2. 2 [Option ID = 10176]
3. 3 [Option ID = 10177]
4. 4 [Option ID = 10178]
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[Question ID = 2679][Question Description = Q43_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10179]
2. 2 [Option ID = 10180]
3. 3 [Option ID = 10181]
4. 4 [Option ID = 10182]
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[Question ID = 2680][Question Description = Q44_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10183]
2. 2 [Option ID = 10184]
3. 3 [Option ID = 10185]
4. 4 [Option ID = 10186]
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[Question ID = 2681][Question Description = Q45_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10187]
2. 2 [Option ID = 10188]
3. 3 [Option ID = 10189]
4. 4 [Option ID = 10190]
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[Question ID = 2682][Question Description = Q46_Nepali_SHAAN_NOV21]

1. 1 [Option ID = 10191]
2. 2 [Option ID = 10192]
3. 3 [Option ID = 10193]
4. 4 [Option ID = 10194]
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[Question ID = 2683][Question Description = Q47_Nepali_SHAAN_NOV21]

1. 1 [Option ID = 10195]
2. 2 [Option ID = 10196]
3. 3 [Option ID = 10197]
4. 4 [Option ID = 10198]
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[Question ID = 2684][Question Description = Q48_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10199]
2. 2 [Option ID = 10200]
3. 3 [Option ID = 10201]
4. 4 [Option ID = 10202]
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[Question ID = 2685][Question Description = Q49_Nepali_SHAAN_NOV21]

1. 1 [Option ID = 10203]
2. 2 [Option ID = 10204]
3. 3 [Option ID = 10205]
4. 4 [Option ID = 10206]
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[Question ID = 2686][Question Description = Q50_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10207]
2. 2 [Option ID = 10208]
3. 3 [Option ID = 10209]
4. 4 [Option ID = 10210]
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[Question ID = 2687][Question Description = Q51_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10211]
2. 2 [Option ID = 10212]
3. 3 [Option ID = 10213]
4. 4 [Option ID = 10214]
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[Question ID = 2688][Question Description = Q52_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10215]
2. 2 [Option ID = 10216]
3. 3 [Option ID = 10217]
4. 4 [Option ID = 10218]
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[Question ID = 2689][Question Description = Q53_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10219]
2. 2 [Option ID = 10220]
3. 3 [Option ID = 10221]
4. 4 [Option ID = 10222]
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[Question ID = 2690][Question Description = Q54_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10223]
2. 2 [Option ID = 10224]
3. 3 [Option ID = 10225]
4. 4 [Option ID = 10226]
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[Question ID = 2691][Question Description = Q55_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10227]
2. 2 [Option ID = 10228]
3. 3 [Option ID = 10229]
4. 4 [Option ID = 10230]
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[Question ID = 2692][Question Description = Q56_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10231]
2. 2 [Option ID = 10232]
3. 3 [Option ID = 10233]
4. 4 [Option ID = 10234]
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[Question ID = 2693][Question Description = Q57_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10235]
2. 2 [Option ID = 10236]
3. 3 [Option ID = 10237]
4. 4 [Option ID = 10238]
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[Question ID = 2694][Question Description = Q58_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10239]
2. 2 [Option ID = 10240]
3. 3 [Option ID = 10241]
4. 4 [Option ID = 10242]
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[Question ID = 2695][Question Description = Q59_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10243]
2. 2 [Option ID = 10244]

3. 3 [Option ID = 10245]
4. 4 [Option ID = 10246]
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[Question ID = 2696][Question Description = Q60_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10247]
2. 2 [Option ID = 10248]
3. 3 [Option ID = 10249]
4. 4 [Option ID = 10250]
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[Question ID = 2697][Question Description = Q61_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10251]
2. 2 [Option ID = 10252]
3. 3 [Option ID = 10253]
4. 4 [Option ID = 10254]
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[Question ID = 2698][Question Description = Q62_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10255]
2. 2 [Option ID = 10256]
3. 3 [Option ID = 10257]
4. 4 [Option ID = 10258]
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[Question ID = 2699][Question Description = Q63_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10259]
2. 2 [Option ID = 10260]
3. 3 [Option ID = 10261]
4. 4 [Option ID = 10262]
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[Question ID = 2700][Question Description = Q64_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10263]
2. 2 [Option ID = 10264]
3. 3 [Option ID = 10265]
4. 4 [Option ID = 10266]
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[Question ID = 2701][Question Description = Q65_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10267]
2. 2 [Option ID = 10268]
3. 3 [Option ID = 10269]
4. 4 [Option ID = 10270]
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[Question ID = 2702][Question Description = Q66_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10271]
2. 2 [Option ID = 10272]

3. 3 [Option ID = 10273]
4. 4 [Option ID = 10274]
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[Question ID = 2703][Question Description = Q67_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10275]

2. 2 [Option ID = 10276]

3. 3 [Option ID = 10277]
4. 4 [Option ID = 10278]
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[Question ID = 2704][Question Description = Q68_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10279]
2. 2 [Option ID = 10280]
3. 3 [Option ID = 10281]
4. 4 [Option ID = 10282]
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[Question ID = 2705][Question Description = Q69_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10283]
2. 2 [Option ID = 10284]
3. 3 [Option ID = 10285]
4. 4 [Option ID = 10286]
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[Question ID = 2706][Question Description = Q70_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10287]
2. 2 [Option ID = 10288]
3. 3 [Option ID = 10289]
4. 4 [Option ID = 10290]
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[Question ID = 2707][Question Description = Q71_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10291]
2. 2 [Option ID = 10292]
3. 3 [Option ID = 10293]
4. 4 [Option ID = 10294]
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[Question ID = 2708][Question Description = Q72_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10295]
2. 2 [Option ID = 10296]



3. 3 [Option ID = 10297]
4. 4 [Option ID = 10298]
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[Question ID = 2709][Question Description = Q73_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10299]
2. 2 [Option ID = 10300]
3. 3 [Option ID = 10301]
4. 4 [Option ID = 10302]
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[Question ID = 2710][Question Description = Q74_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10303]
2. 2 [Option ID = 10304]
3. 3 [Option ID = 10305]
4. 4 [Option ID = 10306]
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[Question ID = 2711][Question Description = Q75_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10307]
2. 2 [Option ID = 10308]
3. 3 [Option ID = 10309]
4. 4 [Option ID = 10310]
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[Question ID = 2712][Question Description = Q76_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10311]
2. 2 [Option ID = 10312]
3. 3 [Option ID = 10313]
4. 4 [Option ID = 10314]
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[Question ID = 2713][Question Description = Q77_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10315]
2. 2 [Option ID = 10316]
3. 3 [Option ID = 10317]
4. 4 [Option ID = 10318]
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[Question ID = 2714][Question Description = Q78_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10319]
2. 2 [Option ID = 10320]
3. 3 [Option ID = 10321]
4. 4 [Option ID = 10322]
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[Question ID = 2715][Question Description = Q79_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10323]
2. 2 [Option ID = 10324]
3. 3 [Option ID = 10325]
4. 4 [Option ID = 10326]
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[Question ID = 2716][Question Description = Q80_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10327]
2. 2 [Option ID = 10328]
3. 3 [Option ID = 10329]
4. 4 [Option ID = 10330]
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[Question ID = 2717][Question Description = Q81_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10331]
2. 2 [Option ID = 10332]
3. 3 [Option ID = 10333]
4. 4 [Option ID = 10334]
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[Question ID = 2718][Question Description = Q82_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10335]
2. 2 [Option ID = 10336]
3. 3 [Option ID = 10337]
4. 4 [Option ID = 10338]
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[Question ID = 2719][Question Description = Q83_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10339]
2. 2 [Option ID = 10340]
3. 3 [Option ID = 10341]
4. 4 [Option ID = 10342]
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[Question ID = 2720][Question Description = Q84_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10343]
2. 2 [Option ID = 10344]
3. 3 [Option ID = 10345]
4. 4 [Option ID = 10346]
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[Question ID = 2721][Question Description = Q85_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10347]
2. 2 [Option ID = 10348]
3. 3 [Option ID = 10349]



4. 4 [Option ID = 10350]
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[Question ID = 2722][Question Description = Q86_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10351]
2. 2 [Option ID = 10352]
3. 3 [Option ID = 10353]
4. 4 [Option ID = 10354]
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[Question ID = 2723][Question Description = Q87_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10355]
2. 2 [Option ID = 10356]
3. 3 [Option ID = 10357]
4. 4 [Option ID = 10358]

88)
TSHATS 593 BT TE TAGT areff|

TcIaTEh eeTET T el s72ll STt 1

- I AR Terehl He Tl FeGaiTcIL Tgehed NG 62

(1) FSAS=IdTel JEH! SaeT aoied

(2) T MICGEels 39t AT caTIIelS Helal

(3)  CIfSIEISHT ST IThfde Seaer avte

(4)  OICHAT o7 3367 Heldl Wiel EXe] STHR! A3
[Question ID = 2724][Question Description = Q88_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10359]
2. 2 [Option ID = 10360]

3. 3 [Option ID = 10361]
4. 4 [Option ID = 10362]
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[Question ID = 2725][Question Description = Q89_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10363]
2. 2 [Option ID = 10364]
3. 3 [Option ID = 10365]
4. 4 [Option ID = 10366]
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[Question ID = 2726][Question Description = Q90_Nepali_SHAAN_NOV21]
1 [Option ID = 10367]
2 [Option ID = 10368]
3 [Option ID = 10369]
4 [Option ID = 10370]
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Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only

IRA it AEFIF FAld Hiad 2, 8 T
(A)  THET

(B) SEwA{-3TTs

(C) =AMR-waHA

(D) ==fwT T

Hr=t fou u fopeat § @ wE I R =Ee i

(1)  =Fad (A) 37 (D)
(2) =& (A), (C) 31 (D)
(3) ¥ (B), (C) 377 (D)

(4) == (B) # (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]

2) Read the passage carefully and answer the question that follow



India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket



(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :
(1) (A) only (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only
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[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13695]
2 [Option ID = 13696]
3 [Option ID = 13697]
4 [Option ID = 13698]
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?

(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy

frefefad 4 @ 9 wia 1 98 wie-Toafa =i w2 78 Fm 27
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[Question ID = 3559][Question Description = Q48_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13699]
2 [Option ID = 13700]
. 3 [Option ID = 13701]
4 [Option ID = 13702]
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.



UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology
(B) Folklore
(C) Tourism
(D) Yoga
(E) Education
Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only  (4) (B), (C), (D) and (E) only

TEATE FI-ITRIA ATAETE F HEE 291 F A GF TRH-TEH - & T 7

(A) TIE

(B) @-mIEe
(C) wHzA

(D) =

(E) foram

= fau T e 9 | wE I W = A




(1)  Faa (A). (C), (D) 3 (E) (2) %A (A), (B). (C) 3R (E)
(38)  hae (A), (B) # (E) (4) =ad (B). (C). (D) #R (E)

[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]

A W N -

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.

Aitpa T 1 ufgu st = fou e vl w1 I A
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The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

TR A A
(1)  Wd % BT % F9 ° 595

(3)  WWA 1 AEHAE dEal

(4)  uTE = T T E W we

[Question ID = 3561][Question Description = Q50_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708]
3. 3 [Option ID = 13709]
4. 4 [Option ID = 13710]

Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distmbution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

freifra arferm =i =9 @ 3@ foed v faghan & g0 998 2019 & fEEmsw 2019 7% 5= 0 G5 @
% famm it wfaema 9o HP #iW DELL #mf+1 + @9F 1=t 1 fafn fof @t &= %1 g
FIET A B T st g e adt el gt i g wer 45,000 (darfem www) 21 Ao | fag

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.9
August 22% 4:5
September 2h% 3 52
Octoher 8% 1.5
November 12% T:8
December 16% 7:9

S = TR T 97 1 I 3

IEEiR:upeafcal:tcm e e R et

fadaor =h1 i HP =
DELL =i
TS 17% 8:7
T 22% 4:5
o 25% 3i2
HFZE 2% 1:5




EER=L] 12%
Teme 16%

=]

=]

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL %0t = g sjeis 331 faaesn § s ffs woorst =t den = sigarg o= 27

(1) 119: 145 (2) 116:135
(3) 119:13b6 (4 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% e
October 8% ol
November 12% il
December 16% e

e aifern 1 w9 © 2 fogd sk faghar & grr 9ens 2019 © fzaest 2019 9% == 7o FHsft g
% faawo 1 ufaemar g1 HP iR DELL ®wafaai = a9 sty 9 fafim fefl et = = #1 s
9T T 3| 3 et ° e mdt e g i 3 we 45,000 (dEriem wEw) 2| Ao 8 o
FTHS % AR T YTF H I G

DELL i
TS 17% 8:7
ST 22% 455
e 25% 3:2
AFTI 8% T:5
EE=H 12% 7:8
famm 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?



(1) 882 (2) 1635
(3) 1638  (4) 885
ST TR § HP %01 % 35% i @ gz W w" A 36t 95m 8 HP wet & e i wmoe
forn 52 = == T ?

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &4
August 22% 4:5
September 25% 3:2
October 8% e
November 12% 7:8
December 16% Y

freAifRa @ifer 1 =99 © 2 fags vk faghan & g 978 2019 § faEest 2019 9% 59 U S o
% faao it wlaemar 9 HP =R DELL #0241 =+ @9F 1=t 1 g Fef @t & #m= % omqema
FIET T 7| T st ° e adt sl gt i g wen 45,000 (darfem www) 21 Ao | fag o
TS F HUR T 977 FH I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
T 25% 3:2
AT 8% 7:5
T 12% 7:8
Temw 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

SR AFgeR * eoA DELL =enei & faghal 3 Uo7 @0k 93 %, 433 =1 @9 WY R a1 =8 mae

3 e 1 R e e ?

e Y = O OADY OOV Fis 1y =E Lo OAS Oyivimy
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(3) £6.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il
December 16% Y

feAifeRa Aifer 1 w9 ° 2d fams vk faghan & g7 9o 2019 ° faEmst 2019 9% 5= 70 FSf T
% faawo 1 ufaemar a1 HP @in DELL w21 % @9 siata 5 fafia Fef ot & = #1 smoa
FaItEr T 7| g st | e adt fsf gt i s we 45,000 (darfem wew) 21 e | fag e
STHS *F HUR T T77 H I 3

DELL =i
JeE 17% 8:7
el e 22% 4:5
T 25% 32
Tz 8% 7:5
AT 12% T8
Gtat==cs 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

I % 7EA § HP = % 3R a9 0 A= S i S FEen # 98 4 HP w1 % gE ose T

B i I 1 o i 3o
=1 TTOT=RT =6l JEAT =Rl THd-T 909909 & ¢

(1) 110% (2) 140%
(3) 150% (4) 130%
[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]



3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5 Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

FeATTRa atfern #1 S 4 20 Tomd v fagkan & g SoE 2019 § feemsw 2019 @ == v Bt g

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Augusat 22% 4:5
September 25% 3:2
October 8% ik
November 12% il
December 16% A

% faawo 1 ufaemar g1 HP iR DELL ®wafaai = a9 sty 9 fafim fefl et = = #1 s
9T T 3| 3 et ° e mdt e g i 3 we 45,000 (dEriem wEw) 2| Ao 8 o

TS % IR W UTF I G

DELL =i
TS 17% 8:7
T 22% 4:5
e 25% 3:2
SAFZH 8% T:5
EELe:ES 12% 7:8
femean 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(2) 15000
(4) 9500

(1) 10000
(3) 10500

3T e fHasss g 7EA § DELL 00T % gRT S 70 e {9 Soel S w5 w0 R

(1) 10000
(3) 10500

(2) 15000

(4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13727]
2.2

[Option ID = 13728]

7




3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

o1 & TofE T T ST =Tea S o & 3999 &1 AadE FEE A B 7

(1) =fa =@ (2) wEETg T
(3) Tamefi o == (4) w@EEE fawm =

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

fmfefigs e § 9 Fi5 @1 == a9rE SEF # oags e

(A) =TT
(B) Torerm - -qa gt
(C) \Hfj\a,-"\ CIEPnI

(D) wE-wEa
(E) Yz

I f2u U faweT B | wE 39 99 i

(1) =39 (4), (B) ¥F (O)
(2)  FA4 (A). (C) 37 (D)
(3) == (B). (C) 371 (D)
(4)  FAA (C). (D) 31 (E)
[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student



(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(l), (C)-(1), (D)-(I1)  (2) (A)-(lD), (B)-(IV), (C)-(I), (D)-(I)

(3) (A)-(I1), (B)-(1), (C)-(lin), (D)-(IV)  (4) (A)-(), (B)-(I1), (C)-(IV), (D)-(ll1)

-1 % =1 geAI-I1 =1 foem Fifsm) wom 3=t goar 1 fafe agfaat 1 2, 74 oot o= =5 =rfifo=s
e it 21 F-1 vF -1 1 e i

-1 711
TATEA-Tga ElREEREE L
(A) T g @) e foeneff & gm faemff & gemn @ 2
(B) HHheHToHE Hodia (I) v faenedff & gomr 9d fuifE =@ @
=TT B
(C) Frw Tefia gearsa (I11) woma: wafgm =i sfagom @ wgEa +
ECRE:
(D) w= T goar (IV) woa: fooe wifa & #offr 29 wg+
& 2|

A fou v famhedt § ® W 3 W == i

1) (A)-AV). (B)-IID). (C)-(T). (D)-(II)
@) (A)-(IID, (B)-IV). (C)-(ID), (D)-()
(3)  (A)-D, (B)-(D). (C)«(III). (D)-IV)
4 (A)-(D). (By-(IT). (C)-(IV), (D)-(IIT)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Fr= = =y fer T #

Fo (1) : Toreon = Wt (waetier) SfEsTor @ v ged g & 6 e e it
dart 7 wifug =7 w9 ww © Fog Sfe = =t

F97 (1) : foren % gatmEEE e g % saEn =i amiteE sEen fvee =0 3 g
_F:ﬁ"l El EOU\

I FE F ATEF |, = 5 0 e 9 9 wEr 39 0 = it

(1) = (1) 37 (II) 31 &g 2

(2) A (D) 31 (II) g1 =83 &

(3) = (D) §ed &, wieha = (1) #1802
(4) WA (1) s/8ed 7, S F99 (1) de7 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]



4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

fr= 21 e 2w w2 ;v wfaEud (Assertion A) % =9 ° ffad & 41 F'\ETFE’H%EWW (Reazon R) =
w0

AR (A) forem, faF wd wAaTEEal  HYY HHIATHS S TEATORS j9Er R HHETE
FAT &, 34: T8 HIA uF uoEr 4 figm 2
Fm7 (R) : "SI UF TEAT 51 A HYEIS SEE-U2H & A T O st 2 2

ITE FUA F A 5, A= B T e § 9 men 3uge 79 1 =aa i

(1) (A) 3T (R) A1 @&t 7 371 (R). (A) F w8t = 2

() (A) FA(R) FAT " E, A R). (A) F1 FE =T 16 2
(3) (AT, @A (R) 78 76 =

(4) (A TE FE 2, @A (R) HE 2

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13747]
2 [Option ID = 13748]
3 [Option ID = 13749]
4 [Option ID = 13750]

AW N =

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

frefefiaa sl @ @ e gegges g S TeEr & 9= e 9 8 7

(1)  =A-gga-gard (2) =M g
(3)  UdiRIeHE SA=ERAERE (4) TEFTEHE FEE

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13751]
2 [Option ID = 13752]
3 [Option ID = 13753]
4 [Option ID = 13754]

A W N -

7) Identify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

fret &1 el famrearatt | @ unen s i gEeE )

(A) =z ufagrl % uleEs § "2 % EeEy ¥ geeiead 2

(B) G T HEAT W1 & WIS 9% el UF a8 390Y ¥ 9 T Al

(C) el =a|e = gaskriers ared e § e 5 S g

(D) N yEUE B = F AU A S R ST A oA B

(E)  =o# womelt va wiu-ufFa 291 § atenad 2 |



i 2w o famwewl ® ® wE 3 F 999 St

(1) =& (A), (C) 3R (E)
(2)  %&d (A), (B) 3 (C)
(3) @A (B). (C) #AT (D)

(4) e (C), (D) #R (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List | List Il

Methods of research Features emphasized

(A) Experimental (l) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(), (B)-(ID), (C)-(li), (D)-(IV)  (2) (A)-(I), (B)-(I), (C)-(1V), (D)-(IlN)

(3) (A)-(1n), (B)-(IV), (C)-(IN), (D)-(1)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)

THi-1 % Ty gt-11 1 foem Fifse
-1 TAT-1I
iy aghaEl e g
(A)  TEFTEHS (I) ~ =I=fF HATC=AT T 9 od FU WS v
oA | = JHE 7 E
(B) MR (IT) witfeata=i va sea i feafa g i
EIni]
(C) =TT (IIl) = =@ T U9 554 F o8 0F =€ 5 7
T = 21
(D) TfFeTE (IV) fawe =1 @9 od 7@ A a9 o=
i fou v e H H EE I S 99 A

(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(2) (A)-(ID), (B)-(I). (C)-(IV). (D)-(IIT)
(3) (A)-(IIT). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(IV). (B)-(III). (C)~(D). (D)-(IL)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

-

FT (D) FFEYE H TEA-Taveun Uh q%A wE B % HE0 CSEHEH- SR A6

eyl A



Foe (IT) : FHT & AT TF O A LA mEEE w2

IWF T FOATA ®, = 5 M0 FEeT § | @ 39w 99 i

(1) == (I) 3 (II) 21 oeg &
(2) = (1) #A (ID) St 27eea &
(3)  =yA (1) Teg 2, =T Faq (10) 319 2

(4) = (D) S 7, AR w9 (1D 7 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

fr 31w fGr 0 2 uF SfEEUE (Assertion A) F ¥ H fAf@ad 2 @ 0 35 F01 (Reason R) &

AR (A) : o frrlE afmer T (o) ftEa # A ST 2 A SEaEeal 6 gied
(wer;) wfwa & e 2
F (R) : Frf afeer (vmo) T wEiTE ufeeTn B IR uE (UEp) '@ E H wEm

SHTFAT 1 UfsheTAT T 6 affa & et 2)
W FUA F A 9, A B T fawew # 9 mes 3ug I 1 99T Fia

(D) (&) =R ®) IF B E AR (R), (A) F =& =0
(2) (A @R (R) ZF @@ E, @ R), (A) Fwd s T 2
(3) (AT E, A (R) T T 2
@) (AT TE R, G (R) TR R

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

faefefiga @ 9 #t9 suda @9a =1 o= IgEw 2 e smE-sEue (), 2 (2), 9 (aieg)
3R fqum (vist) =1 o3 mie 27

(1) == e w7 (2) waEE T
(3)  sTHYHT ThA (4) T 9



[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13771]
2 [Option ID = 13772]
3 [Option ID = 13773]
4 [Option ID = 13774]

A w N =

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

H =1 T A T E : UF AT9HeF (Assertion A) F T H A ® 91 557 39 FEW (Reason R) F

HATFIA (A) T % HwY O FEUNOeEE U] Tieed SAH Icdied #Adl £ (98 Iieeh -0
(F=-=m=) Fad 2

FI (R): B 10 e O o e ol 1 £ e O e ol =1 1 e e e il
ST FUA F A 1, = 5w T TEen 3 ¥ me 399w I w9 i

1) (A) 3k ®) 2F T s ®). A) Fr o s 2
(2)  (A) 3R (R) 5H1 931 2, it (R). (A) =i o2 =awem 47 2
(3)  (A) =7l &, @A (R) 971 TH 7
4 (A @E A 2, @ (R) A2
[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Hi 21 oA feu T 2

F (D) : THTHt AT TIEY B DA TR F 94 AEvEE A
Fyq (1D : Hifigs 99 v 9 gEE-mmE % aeE 2

I FUF F AT H, A 2 e GEel 4§ g9 39 #1991 hie

(1) = (D) 318 () 391 o= 7

(2) = (D) 3 (II) 31 78T &



(3)  =ua (I) Ged &, <t =9 (II) #5992

(4)  =uF (1) #9 2, =i 99 (I10) Oe9 &

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

srdifafas gt & & T ) snened = gaae -
(A) =T A

(B)  Sufad seem

(C) &M v foan = Fag e

(D) == A foaEw = fage -ag e

(E)  Tfheh %9

A fou v fasheqt @ ® @ 3T W =Ee it

(1) a4 (A) = (B)
(2) &= (B) F (C)
(3) A (C) W (D)
(4) == (D) #i (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1
[Option ID = 13783]
2. 2
[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (l) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (V) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (C)-(1V), (D)-(I1)  (2) (A)-(I), (B)-(I), (C)-(ll), (D)-(IV)

(3) (A)-(lI, (B)-(IV), (C)-(1), (D)-(II)  (4) (A)-(IV), (B)-(llI), (C)-(I), (D)-(I)

-1 % =Yg -1 1 e Fife
-1 i1
HET % TR =g famrmand



(A)  FFIET TRy (I) T % HIEA W RN R HATEYARAT R
T F F T e # sg

(B) 39Tt Fes (II) FE-TF=77 2d 94 =+ & ©F FgEt
AT T 2

(C)  dfest Fem (1) =7 &t w9 ameen & afagfe & @
SHEfEe T B

(D)  T9-=Ts FEE (IV) Tt off @em =1 28 wd-wEET w@EmE
T &l

4 feu 0 9T § © TF1 I & =999 FHian

(1) (A)-(D). (B)-(IT). (C)-(IV). (D)-(I1I)
(2) (A)-(I1), (B)-(T). (C)-(IIT), (D)-(IV)
(3) (A)-(IID), (B)-(IV). (C)-(I), (D)-(II)
4) (A)-(TV), (B)-(I1II). (C)-(II), (D)-(I)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

afg Fame, fawagea =1 25% & a1 o i wiowrar #2027

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

v fagar 26 el 9=w T 20/FF % 9 W wiE w30 g6 TR W 30 e =Ee fen 5w e

304 %, 36 /FFe & W wle o1 3R ow v fafim gu wee # % 30/ F W s 2 5 A

=1 ufaeraan == 7 ?

(1) 5% (2) 10%
(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33  (2) 66.66

(3) 133.33 (4) 166.66

e grg-Tasha 5. X/efi % @ W 39 wig %, 20X/ F @ W s"a1 2| 9E9g 36 98 2 o o
TedF 6 T2t Wg g9 A THew 9o 21 38 oy it wfdwaar #7427

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66



[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3 Q = 3itga =ifgs 1@ 5050 9 &, Q 31X R i sitq #ifas 19 6250 94 @ P 3t R i

A "Ifaw A 5200 ¥4 2| P 1 9ifdqs @ fomad gt ?

(1) 3.000/- == (2) 3,500/- ¥4

(3) 4.000/- w4 (4) 4,500/- %74

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 TEATAT F 3T 20 & a9 IEel HEA W9 3 Gl & 90 #0113 | Ueell S & AW | 8 Y

(1) 15 (2) 20
(3) 25 (4 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21) According to Nalyayvikas we ascertain the relation of universal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of eszential
identity between x and v

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x is not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (D) and (C) only

(3) (B) and (D) only

(4) (A). (B) and (C) only

EAEF] F FAEE FH x AR y § AEGEE GG F T gEved w0 2

(MY x 3oy S A UEE 9T SUET U] o O OHTaa B W R 20 Oy W 99 o



TFA|

(B) Tt uRfETaE § x Fi IuiEta & o y 1 Fufeaia F sged = 1 o w1

(C) =8 "eary i al GHTaa & Thd 7 99 829 x A0 y % s" HE-HEv geEey gETEd H e

(D)  x Fi ufeafs & =g y Fi sEefeata oy f el F e o f atets = FwE 9@ g .

9T T
= fou 7 faweTl 0 9 WA I R 999 i

(1) a9 (A) 31 (C)
(2) == (D) #E (C)
(3) A (B) ¥ (D)
(4)  Fae (A), (B) #HE (C)

[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List T with List II :

List I List IT
(A)  Vyapti (I)  The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhya (III) Sign or reason
(D) Paksa (IV) Univerzal concomitance

Choose the correct answer from the options given below :

(1) (A)-D. (B)-AID). (O)-D). (D)-(IV)
(2)  (A)-1D). (B)-(IID). (C)-(D). (D)-(IV)
(3)  (A)-AV). (B)-(III), (C)-D). (D)-(ID)
4 (A)-(III). (B)-(T). (C)-(IV). (D)-(IT)

FH1-1 % =19 F=-11 =1 faem e
-1 11
(A) =i @ e 1 SgEE
(B) fem (IT) = #1T T =1 ==
(C) = (II) =ee Y= 0
(D) u& (IV) @i semimar

= fau o feeredi @ @ wE v =EA Hifaw

(1) (AT, (B)-III). (C)-(II). (D)-(IV)
(2)  (A)-D), (B)-(II), (C)-(D), (D)-IV)
(3) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
4)  (A)-IID. (B)-D). (C)-IV), (D)-(ID)



[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13815]
2 [Option ID = 13816]
3 [Option ID = 13817]
4 [Option ID = 13818]

A W N -

23) Given below are two statements :

Statement I: According to Classical Indian Logic the fallacies (hetvabhasa) are not

errors of inference. but rather hindrances to inference.
Statement 1T : A fallacy 1s really a “seeming reason or mark’ (hetvabhasa ), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements., Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II 1= falze.

(4) Statement I 1s false but Statement II is true.

FA (1) : AT o7 G o STFAT a9 A 1 &9 981 S a9 £
Fo (1) : FeATHIE SEgd: ATHTHT B AYE] Hehd £ W T AT ' A0 o SgEia wse
=1 et = FER = 2

IR FUF F AT |, = B 0 FEeT 4§ "E 39w = A

(1) == (1) =1 (1) 391 709 7

(2) = (I) 3R (1) 31 FEe &

(3)  =ua (I) Ged 2, wifeed =9 (II) #8cd 2
(4) =M (1) wea 2, =it e (1) 7e 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13819]
2. 2 [Option ID = 13820]
3. 3 [Option ID = 13821]
4. 4 [Option ID = 13822]

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘“No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) “‘Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) ‘‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

e W FHAEE HETS UH GHT 2 W 29t waaedl $ ied 9el e 217 sifetEd wuE 0 ° F5E
o1 FU9 I & T=d 4 g8 27




(1) =hig A Heda: TRAERE] HHE =T JHE A5 & S0 S=90h6 S 0 W8T S | RE T R
1 F7 Tiaaida 9 & S qife ®9 5 THged 8

(2) T off Jo: THAEE WU UH @6TH 9l & 9 SArwew Taaeaal w S Far 7)) 2 m wee
=1 77 UiGatdd a9 & HA7 qie B9 ° FEEged &

(3)  F9 Tola: OUAIETE] WU UH HOTS & S S3fwE Saa S 0 7| fa T Fee # 9w afowe
ATET & AN 9% ®1 ° 4HH 2

(4)  F3 Goid: OUGETE @O UH THIS 981 2 91 A9 T w S Fd 2| fr Tw wem w= mm
et 919 2 3R dIfRE 9 ° TEge 2

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

21 wfastaat = 2 3fe

(1) ==, 388 F f9g =t & 71 7950 246 2

(2) 3R, S GeF B FAl & SR 21 HEcT TR B wAi|

(3) 7T I ey AR fadw ug fam E, va o otk amn ot srem 2

(4) 3 I 327 AR 9w wum B o 3 e e § a1 T 3 oy e 9 st 3
[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]

3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

TS WEAT 67.625 w1 Tgemart gnged w41 21

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011 . 101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1
[Option ID = 13831]
2. 2
[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (€) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFET 7150 F A ° TEd 50 el o § #ed i, T & o % 20 T w1 8 wa g f geee
=T



(A)

(B) A== =154

(C) iz F=

(D) TE.TEE.E.

dr fau o famedt @ = 3w = A

(1) (B). (D). (A). (C)
(2) (C). (D). (A). (B)
(3) (A). (B). (C). (D)
(4) (C). (A), (D), (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 1 = fgw o #

#9541 (1) : UA..HH, T A & - HiEE A e wEE
= (1) : TH.E5Y T AR OUN. H UAeE 2 - el dsh W% Ufdd-dT B T Ui
ATeSH

I FI F AT H, A= 20 T e 8 9 "e 39 % 999 Hie

(1) =M (@) 3R (1) 2 7 7
2) = (D) 37k (II) 31 283 &

(3)  =w9F (I) Ged 2, it =99 (1) s8c9 2

(4) 9 (I) AEeT 2, =i e (I0) 9ed &

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

fFeAferfias o # ®A-1 § U AT da H og =@ A, Fiogfaem § w27
(A) ATIF F=ES TF T

(B) 37T ENGIE



(C) wri 391 § a7 Tafwewhia fem

A1 f2u u el 8 | | 39 =Ee i

(1)  (A), (B) 3l (C)
(2) A (A) #|R(C)
(3) A (B) 51 (C)

(4) A (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (l) Semantic Web

(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (2) (A)-(1I1), (B)-(I), (C)-(1V), (D)-(11)
(3) (A)-(I), (B)-(1V), (C)-(), (D)-(I1) ~ (4) (A)-(IV), (B)-(llI), (C)-(1), (D)-(I)

-1 % =y =11 = e Fifm

F-I g-11

TR TS Taem
(A) TEA T, () wEfes 3=
(B) =% 2.0 (I) FF Ficq = F &0 ez F w3
(C) == 3.0 (III) == 99 1 799 F fow = $ 72 Fee
(D) =t s, (IV) =Hietsmrfea 9=

A1 f2u u el 8 | | 39 =Ee i

(1) (A)-ID. (B)-AV). (C)-(D). (D)-(IT)
(2) (A)-(III). (B)-(I). (C)-(IV). (D)-(II)
(3)  (A)-OD. (B)-(IV). (C)«(I). (D)-(IIT)
(4) (A)-(TV). (B)-(IIT), (C)-(T), (D)~(IT)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31 o fam o #



EZENOE T TEEY W WAFHE THE A AEN-I & AY-HY  FEs R WO

TS 2

FoH (D) : AT SR, SAH-T F g9y ° fiEw 2

IYLRE YA = AT H, 9 50 70 el 3 8 HE 3 %1 =9EE i

(1) = (I) 3 (1) 341 &3 &
(2) = (I) #A (I S e B
(3) = (I) ®cF 2, =it =ee (ID) s8eT &

(4)  =uE (1) A6 2, s =y (1) O 2

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

feAfetiEa & @ %4 @1 29 30 T A f auar ael Gva ® 5eE 93 i-ag-Sa-3aE i TeEr

iz d HEm R Y

a

(1) = H (2) 4ra

(3)  sAretemn (4) T -wTE
[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]

3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I = e 2w U 2 uF fEFYA (Assertion A) ¥ €9 ® Toifiad & af EEl 3% %AW (Reason R) &

SATHFI (A) : Al fam we (wm. 2 ) Fi o min 2 vhmd e s 2
FT (R) : F% UH.E A, waEg A

IR HA! % e |, A= e e faeat @ O wem uges 3w o =E i

(1)  (A) =77 (R) ZAT T&t & 3117 (R). (A) it T8t =men 2

(2)  (A) ¥ (R) 3 7T 7, = (R). (A) F w8l = 96 7

(3) (AT 2, d@fF R) wE T e

@) (A T AE R, @ R T R

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]



1.1

[Option ID = 13859]
2.2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

1 71 w2 fog w2 uF wfvweA (Assertion A) F ¥ 1 fofd ® 1 550 39 FWW (Reason R) +

=Y ;
SATFIT (A) AT 3R TG F T4 § TR SR AEgagn fifesfas-aa w1 e ff s
T o i EX
EAE =AM H 9EAEd =B 1547 & |
FE (R): Al F TAE H 7 7 A afEe a2

IYURE FAA A H, i 150 T e § d wE S =E HIe

(1) (A ¥R R)TA A £ AR R), (A) Fi 778 =men 2

(2) (A ¥R (R) T &3 £, w5 (R). (A) 1 858 =2men 7 2

(3) (A= R, @A (R) 79 o0 2

(4 (A 3= TH 2, @ (R) 9= 2

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) - 42%
(3) - 37% (4) - 28%

(1) ~57% (2) ~42%
(3) ~ 37% (4) ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]



2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

feafefas § 9 o1 §o9 291 T § H948 ¥9 § dvdte 2g matdy oo w2

(1)  wohe HiEFHaH ged (2) =% HEFOH g9
(3)  aEtE (4)  TeH-=Hi=gan

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot & = v, w1 adeE B -

(1)  =ameH 5T B2 =hiy (2)  =aT=m FT= Fise faeem
(3)  Hea WIS AT HE T (4) iz w1 =T Tz wray

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13875]

2. 2 [Option ID = 13876]

3. 3 [Option ID = 13877]

4. 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona Virus Disease strain 19

(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifaE-19 =1 gaeE 7 -

(1)  =EET 972" SiHiF 217 2019

(2) IO arsE S 24 19

(3) FAMET a7 feam=t 317 2019

(4) =T aTere fedtE =7 2020

[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1.1
[Option ID = 13879]
2. 2
[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation
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[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13883]
2 [Option ID = 13884]
3 [Option ID = 13885]
4 [Option ID = 13886]

AN w N -

40) Match List | with List Il :

List I List Il

(Days Celebrated) (When)

(A) Earth Day (I) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1), (C)-(1), (D)-(IV)  (2) (A)-(IV), (B)-(llI), (C)-(1), (D)-(IN)

(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(ll)  (4) (A)-(IV), (B)-(ll1), (C)-(IT), (D)-(1)
Tft-1 & =y g=A-11 =1 faam iy

Ecif! g=fi-11
fe=a feroft
() yt-feam D 24 S
(B) &g Ug 99 fgaw I ssH
(C) - D) 24 S
(D) wr=rga farem fGam (IV) 22 =18

I f2u v famed § | wE 3w 99 i

(1) (A)-(D). (B)-(IIT). (C)-(II). (D)-(TV)
@) A-IV). (B)-(I1D, (C)-(D). (D)-(IT)
(3)  (A)-I), (B)-(IV), (C)-(T), (D)-(IIT)
4)  (A)-OV). (B)-(III). (C)-(ID). (D)-(T)

[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13887]
2 [Option ID = 13888]
3 [Option ID = 13889]
4 [Option ID = 13890]
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